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THM 348 Service Operations Management
Final Exam Answer Sheet
1. In its effort to improve the quality of its services, XYZ Bank analyzed various “Suggestion Cards” filled by its customers for the last 3 months. The following problematic areas along with their frequencies were observed:
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a) Prepare a Pareto Chart for the above data. (2 Points)

 
[image: image2]
b) As “Long queues for the service” problem had the highest frequency amongst the other problems, XYZ Bank decided to tackle it first. They started for the first time “Online Banking” service, heavily advertised it and offered reduced transaction costs for those using that very service. 3 months later, they analyzed “Suggestion Cards” filled by bank customers. The number of complaints as far as “Long queues for the service” problem is concerned turned out to be 101. Is there any improvement as far as customers’ complaints are concerned after XYZ Bank added online service? If there is an improvement, what is the next problem that XYZ Bank shall try and solve? Explain the reason behind your answer. (1 Point)
As the frequency of complaints concerning “Long queues for the service” decreased from 205 to 101, there seems to be a significant improvement. Moreover, the next problem that XYZ Bank shall try and solve is “Not enough clerks to serve”. The reason behind this approach is that this very problem received the second highest frequency (complaint wise) among the other reasons.
c) Prepare a fish-bone chart for the next problem to be tackled. Come up with at least one possible cause for each category. (2 Points)
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Ambiance of the bank 14

Aeration of the bank 10

Inadequate service 21

Long queues for the service 205

Not enough clerks to serve 43

Other Problems 7

Sum 300


The answer here varies from one student to another. Hence, there is no definite set of causes. (Check students’ answers and their relevance to the problem as well as to the category in the fish-bone chart.

2. “Service capacity is analogous to inventory”. Do you agree with this statement? Why? Why not? (2 Points)

Yes, I agree with this statement. In fact, while for goods supply chains, inventory is used to buffer the variation in final customer demand and allow full utilization of productive capacity; for services, the customer-supplied inputs are generally random occurrences with expectations of immediate processing.
3. Come up with any 2 considerations when companies decide to outsource a service activity. (2 Points)

Some considerations when companies decide to outsource a service activity are as the following:
· Loss of direct control over quality.

· Jeopardizes employee loyalty because of job-loss fears.

· Exposure to data security and customer privacy issues.

· Dependence on one supplier compromises future negotiation leverage.

· Additional coordination expense and delays.

· Atrophy of in-house capability to perform outsources service. 
4. Come up with any 3 issues when companies use “Focused Network Strategy”. Explain briefly each of those very issues. (3 Points)
Some issues when companies use focused network strategy are as the following:

· Loss of direct control over quality: physical distance is a constraint here. That’s why; there is a need for strict operating manuals, personnel training and centralized purchase decisions.
· Need for different managerial skills: a lot of planning is needed + requires the ability to use sophisticated communication strategies / technologies as well as develop smarter control strategies.

· Risk of overexpansion: If companies expand in an uncontrollable way, they risk failure and bankruptcy.

5. Contrast “Multidomestic Strategy” to “Transnational Strategy”. Provide an example for each of those very strategies. (2 Points)
While “Multidomestic Strategy” refers to a generic international strategy where companies open overseas offices to serve the needs of the local country (staffed and managed by local nationals), “Transnational Strategy” refers to a generic international strategy where companies adapt to local needs.
An example of “Multidomestic Strategy” could be Fulbright and Jarwski (Law firms). An example of “Transnational Strategy” could be Toys ”R” Us company.

6. During the past season, Larin Resort Hotel did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.05
	0
	0.00

	1
	0.07
	1
	0.05

	2
	0.11
	2
	0.12

	3
	0.14
	3
	0.23

	4
	0.15
	4
	0.37

	5
	0.17
	5
	0.52

	6
	0.10
	6
	0.69

	7
	0.08
	7
	0.79

	8
	0.06
	8
	0.87

	9
	0.04
	9
	0.93

	10
	0.03
	10
	0.97


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 105. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected number of no show rooms = (0.05 * 0) + (0.07 * 1) + (0.11 * 2) + (0.14 * 3) + (0.15 * 4) + (0.17 * 5) + (0.10 * 6) + (0.08 * 7) + (0.06 * 8) + (0.04 * 9) + (0.03 * 10) = 0 + 0.07 + 0.22 + 0.42 + 0.60 + 0.85 + 0.60 + 0.56 + + 0.48 + 0.36 + 0.30 = 4.46 rooms.
b) Calculate the Expected Opportunity Loss. (1 Point)

· Expected Opportunity Loss = 4.46 * 105 = $ 468.30.
In order to avoid some of this loss, Larin Resort Hotel management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Larin Resort Hotel has made arrangements with a nearby Resort Hotel (Cyle Resort Hotel) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 185 per turned out guest.
c) Fill the below Overbooking Loss Table (4 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.05
	$0
	$185
	$370
	$555
	$740
	$925
	$1,110
	$1,295
	$1,480
	$1,665
	$1,850

	1
	0.07
	$105
	$0
	$185
	$370
	$555
	$740
	$925
	$1,110
	$1,295
	$1,480
	$1,665

	2
	0.11
	$210
	$105
	$0
	$185
	$370
	$555
	$740
	$925
	$1,110
	$1,295
	$1,480

	3
	0.14
	$315
	$210
	$105
	$0
	$185
	$370
	$555
	$740
	$925
	$1,110
	$1,295

	4
	0.15
	$420
	$315
	$210
	$105
	$0
	$185
	$370
	$555
	$740
	$925
	$1,110

	5
	0.17
	$525
	$420
	$315
	$210
	$105
	$0
	$185
	$370
	$555
	$740
	$925

	6
	0.10
	$630
	$525
	$420
	$315
	$210
	$105
	$0
	$185
	$370
	$555
	$740

	7
	0.08
	$735
	$630
	$525
	$420
	$315
	$210
	$105
	$0
	$185
	$370
	$555

	8
	0.06
	$840
	$735
	$630
	$525
	$420
	$315
	$210
	$105
	$0
	$185
	$370

	9
	0.04
	$945
	$840
	$735
	$630
	$525
	$420
	$315
	$210
	$105
	$0
	$185

	10
	0.03
	$1,050
	$945
	$840
	$735
	$630
	$525
	$420
	$315
	$210
	$105
	$0

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	468.30 
	377.80 
	307.60 
	269.30 
	271.60 
	317.40 
	412.50 
	536.60 
	683.90 
	848.60 
	1,024.90 

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
According to the above overbooking loss table, 3 rooms shall be overbooked, since, this very scenario yields the least expected loss.

N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
7. “Yield Management is most appropriate for companies with low marginal sales cost and low marginal capacity changes costs”. Do you agree with this statement? Why? Why not? (2 Points)
No, I don’t agree with this statement. For, the marginal capacity changes cost shall be high as capacity can only be added in lump sum (ex. You cannot add 1 room to an existing hotel but 1 block of rooms).
Good Luck
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